
Henny Penny
Heated Holding Cabinet

Model HHC-136

TECHNICAL MANUAL





FM06-037
Revised 02-15-07

LIMITED WARRANTY FOR HENNY PENNY EQUIPMENT

Subject to the following conditions, Henny Penny Corporation makes the following limited warranties to the original
purchaser only for Henny Penny appliances and replacement parts:

NEW EQUIPMENT:    Any part of a new appliance, except baskets, lamps, and fuses, which proves to be defective in
material or workmanship within two (2) years from date of original installation, will be repaired or replaced without
charge F.O.B. factory, Eaton, Ohio, or F.O.B. authorized distributor.  Baskets will be repaired or replaced for ninety (90)
days from date of original installation.  Lamps and fuses are not covered under this Limited Warranty.  To validate this
warranty, the registration card for the appliance must be mailed to Henny Penny within ten (10) days after installation.

FILTER SYSTEM:    Failure of any parts within a fryer filter system caused by the use of the non-OEM filters or
other unapproved filters is not covered under this Limited Warranty.

REPLACEMENT PARTS:    Any appliance replacement part, except lamps and fuses, which proves to be defective in
material or workmanship within ninety (90) days from date of original installation will be repaired or replaced without
charge F.O.B. factory, Eaton, Ohio, or F.O.B. authorized distributor.

The warranty for new equipment covers the repair or replacement of the defective part and includes labor charges and
maximum mileage charges of 200 miles round trip for a period of one (1) year from the date of original installation.

The warranty for replacement parts covers only the repair or replacement of the defective part and does not include any
labor charges for the removal and installation of any parts, travel, or other expenses incidental to the repair or replacement of
a part.

EXTENDED FRYPOT WARRANTY:   Henny Penny will replace any frypot that fails due to manufacturing or workmanship
issues for a period of up to seven (7) years from date of manufacture.  This warranty shall not cover any frypot that fails due to
any misuse or abuse, such as heating of the frypot without shortening.

0 TO 3 YEARS: During this time, any frypot that fails due to manufacturing or workmanship issues will
be replaced at no charge for parts, labor, or freight.  Henny Penny will either install a new frypot at no cost or
provide a new or reconditioned replacement fryer at no cost.

3 TO 7 YEARS: During this time, any frypot that fails due to manufacturing or workmanship issues will
be replaced at no charge for the frypot only.  Any freight charges and labor costs to install the new frypot as
well as the cost of any other parts replaced, such as insulation, thermal sensors, high limits, fittings, and
hardware, will be the responsibility of the owner.

Any claim must be presented to either Henny Penny or the distributor from whom the appliance was purchased.  No
allowance will be granted for repairs made by anyone else without Henny Penny’s written consent.  If damage occurs during
shipping, notify the sender at once so that a claim may be filed.

THE ABOVE LIMITED WARRANTY SETS FORTH THE SOLE REMEDY AGAINST HENNY PENNY FOR ANY BREACH
OF WARRANTY OR OTHER TERM.  BUYER AGREES THAT NO OTHER REMEDY (INCLUDING CLAIMS FOR ANY INCI-
DENTAL OR CONSEQUENTIAL DAMAGES) SHALL BE AVAILABLE.

The above limited warranty does not apply (a) to damage resulting from accident, alteration, misuse, or abuse;  (b) if the
equipment’s serial number is removed or defaced; or  (c) for lamps and fuses.  THE ABOVE LIMITED WARRANTY IS EX-
PRESSLY IN LIEU OF ALL OTHER WARRANTIES, EXPRESS OR IMPLIED, INCLUDING MERCHANTABILITY AND FIT-
NESS, AND ALL OTHER WARRANTIES ARE EXCLUDED.  HENNY PENNY NEITHER ASSUMES NOR AUTHORIZES ANY
PERSON TO ASSUME FOR IT ANY OTHER OBLIGATION OR LIABILITY.

Revised  01/01/07



Model HHC-136

SECTION 1. PARTS INFORMATION

1-1.    INTRODUCTION This section lists the replaceable parts of the Henny Penny Model
HHC-136.

1-2.    GENUINE PARTS Use only genuine Henny Penny parts in your fryer.  Using a part of
lesser quality or substitute design may result in damage to the unit or
personal injury.

1-3.  WHEN ORDERING PARTS Once the parts that you want to order have been found in the parts
list, write down the following information:

Item Number 2
Part Number      71072 Example:
Description      Panel - Upper Flip Door - 1/3 Size

From the data plate, list the following information:

Product Number    HHC136.0
Serial Number 0001 Example:
Voltage                   240

1-4.    PRICES Your distributor has a price parts list and will be glad to inform you
of the cost of your parts order.

1-5.    DELIVERY Commonly replaced items are stocked by your distributor and will
be sent out when your order is received.  Other parts will be
ordered, by your distributor, from Henny Penny Corporation.
Normally, these will be sent to your distributor within three working
days.

1-6.    WARRANTY All replacement parts (except lamps and fuses) are warranted for
90 days against manufacturing defects and workmanship.  If dam-
age occurs during shipping, notify the carrier at once so that a claim
may be properly filed.  Refer to warranty in the front of this manual
for other rights and limitations.

Recommended replacement parts, stocked by your distributor, are
indicated with √√√√√ in the parts lists.  Please use care when ordering
recommended parts, because all voltages and variations are
marked.  Distributors should order parts based upon common
voltages and equipment sold in their territory.

3-1       806

1-7.   RECOMMENDED
SPARE PARTS FOR
DISTRIBUTORS



Model HHC-136

Item No. Part No. Description Quantity per Door

Flip-Up Door Assemblies
1 71466 Assy - Door - Flip - RH - 1/3 Size 1
1 71467 Assy - Door - Flip - LH - 1/3 Size 1
2 71072 Panel - Upper Flip Door - 1/3 Size 1
3 71073 Panel - Lower Flip Door - 1/3 Size 1
4 71308 Assy - Hinge - Panel - Door - Flip 2
5 71067 Rod - Flip Door 2
6 71316 Spring - Flip Door 2
7 70768 Cam - Flip Door - RH 2
7 70769 Cam - Flip Door - LH 2
8 73320 Extrusion - Flip Door 2
9 SC01-254 Screw - #8-32 x 5/8 PH FHD SS 4

10 LW02-006 Lockwasher - Internal - #8 S 4
11 NS03-024 Nut - #8-32 Low Crown Acorn - B P 4
12 SC01-186 Screw - #10-32 x 1-3/4 PH FHD SS 4
13 14272 Kit - HC-900 Door Handle 1
14 14271 Kit - HC-900 Door Hinge 2
15 SC01-088 Screw - #8-32 x 1 PH FHD S 4
16 71056 Weld Assy - Flip Door Frame - RH - 1/3 Size 1
16 71057 Weld Assy - Flip Door Frame - LH - 1/3 Size 1

806        3-2



Model HHC-136

Item No. Part No. Description Quantity

Electrical Components
1 14209 Kit - Thermostat 1
2 16624 Light - Indicator 2
3 14250 Kit - Thermometer                                                                                 1
4 22198 Switch - Power DPST 1
5 63361 Motor - Blower - 240V 1
6 72149 Heater - 120V-600W 2
7 18201 Sensor - High Limit - 335oF 2

8* 63360 Blade - Fan - 5-3/8” 1

*not shown

3-3       806



Model HHC-136

Item No. Part No. Description Quantity

Front View
1 72228 Decal - HHC136 1
2 25863 Knob - Thermostat 1
3 73597 Assy - Water Pan 1
4 73093 Assy - Air Duct 2
5 25793 Gasket - Door 2

806        3-4



Model HHC-136

3-5       806


